“d m™Y11Gevy
|_\
(@)

thar
o

|
(@3]

1077

[EEY

Ratio to ATLAS

0.5

t

4
pthar{t}[G eV], m

" in [550,700] [GeV]

13000 GeV pp tt
_| I I I | I I I | I I I | I I I |_ 9
3
B ptTtbar (ATLAS semileptonic ttbar) 13
— =
— I~
- i
B |
S
— R
o
B s
| 2
3 e[
)
— ™M
D
(40
= _|©
= A Pythia 6.428 370 1%
— A Pythia 6.428 373 mE
—  --0-- Pythia 6.428 374 =45
B Pythia 6.428 375 . s
| --&-- Pythia 6.428 381 & e
| -¥-- Pythia 6.428 382 g
— — n
— m s
| — O
| — O
= IS S N S AU N BT b
— =2
— !A --------- 1‘/! _
- { _ 1
| —0.5
| 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 |
0 200 00 600 800



	Contents
	Page 1


